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 Question  Answer Marks AO Guidance 

4 (a)  4 B1 1.1                                                                                                   

    [1]   

4 (b)  

 

B1 

 

Dep B1 

1.1 

 

1.1 

Correct shape in both quadrants;  

 

Must not cut either axis or bend away excessively from either axis 

Reasonably Symmetrical about y-axis    

 

Condone slight feathering, and slight asymmetry along the y - 

axis                                          

    [2]   

5   √(11 − 5)2 + (−1 − 2)2 o.e. 

 
OR  

√(5 − 11)2 + (2 − (−1))2 

M1 2.1 allow one sign error                                                     

   √45 A1 1.1  

   3√5 A1 2.2a Condone √45 for A1A1 and √45 or 3√5 only implies full marks 

    [3]   

6 (a)  Population because all the available data 

are used 

E1 2.4 This is an ‘explain’ question, so we do need ‘population’ and a 

correct justification.  

Accept ’population as it is data from every single day the phone 

was used’ scores 

‘Population as it is every day the phone is used’ scores 

    [1]   

6 (b)  Negative skew B1 1.2 ‘Negative’ is B0  

    [1]   




